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

 is the transitional use of the postpositive conjunction DE, meaning “Then” plus the third person singular aorist active indicative from the verb EIPON, which means “to say: he said.”


The aorist tense is a constative/historical aorist, which views the action in its entirety as a fact.


The active voice indicates that the owner of the vineyard/orchard produced the action.


The indicative mood is declarative for a simple statement of fact.

This is followed by the preposition PROS plus the accusative of place from the masculine singular article and noun AMPELOURGOS, meaning “to the vinedresser/the gardener.”

“Then he said to the gardener,”
 is the particle of attention IDOU, meaning “Behold, Notice, Pay attention.”  Next we have the accusative of measure of extent of time from the neuter plural cardinal adjective TREIS plus the noun ETOS, meaning “for three years.”  Then we have the preposition APO plus the ablative of origin/source from the masculine singular relative pronoun HOS, which is an idiom, meaning “since.”
  There is an ellipsis of EIMI here, meaning “[it is] three years since I am coming.”  Great Greek, but awkward English.  This can be simplified to our English expression “for three years.”  This is followed by the first person singular present deponent middle/passive indicative of the verb ERCHOMAI, which means “to come.”


The present tense is a durative present, which describes the continuing action that began in the past and continues in the present.  This can be translated “I keep coming.”


The deponent middle/passive voice is middle/passive in form but active in meaning with the subject (the owner of the vineyard/orchard) producing the action.


The indicative mood is declarative for a simple statement of fact.

Next we have the nominative first person masculine singular present active participle of the verb ZĒTEW, which means “to seek: seeking.”


The present tense is a descriptive and iterative present of what occurs over and over again.


The active voice indicates that the owner produces the action.


The participle is circumstantial.

Then we have the accusative direct object from the masculine singular noun KARPOS, meaning “fruit.”  This is followed by the preposition EN plus the locative of place from the feminine singular article and noun SUKĒ with the adjectival use of the demonstrative pronoun HOUTOS, meaning “on this fig tree.”

““Behold, for three years I keep coming, seeking fruit on this fig tree”
 is the additive use of the conjunction KAI, meaning “and,” followed by the negative OUCH, meaning “not” plus the first person singular present active indicative from the verb HEURISKW, which means “to find.”


The present tense is a descriptive and iterative present, which describes what occurs at each interval.


The active voice indicates that the owner produces the action.


The indicative mood is declarative for a simple statement of fact.

Next we have the second person singular aorist active imperative of the verb EKKOPTW, which means “to cut down.”


The aorist tense is a constative aorist, which views the action in its entirety as a fact.


The active voice indicates that the gardener is expected to produce the action.


The imperative mood is a command.

Then we have the accusative direct object from the third person feminine singular personal use of the intensive pronoun AUTOS, meaning “it” and referring to the fruit.  OUN [‘therefore’] is a scribal addition/insertion not found in several older manuscripts where you would expect it to be, if it were part of the original text.  It adds nothing to the meaning of the text.

“and not finding it.  Cut it down!”
 is the interrogative adjective HINATI (also written HINA TI), meaning “Why?”  This is followed by the ascensive use of the conjunction KAI, meaning “even.”  Then we have the accusative direct object from the feminine singular article and noun GĒ, meaning “the ground.”  Finally, we have the third person singular present active indicative from the verb KATARGEW, which means “to use up, exhaust, or waste.”


The present tense is a descriptive present of what is now occurring.


The active voice indicates that the fig tree is producing the action.


The indicative mood is an interrogative indicative, which is used in questions that can be answered by providing factual information.

“Why even waste the ground?””
Lk 13:7 corrected translation
“Then he said to the gardener, “Behold, for three years I keep coming, seeking fruit on this fig tree and not finding it.  Cut it down!  Why even waste the ground?””
Explanation:
1.  “Then he said to the gardener,”

a.  Jesus continues the parable by further describing the attitude and thoughts of the owner of the vineyard/orchard, who represents God the Father in the illustration.  The owner of the vineyard/orchard now speaks to someone else, who is introduced to us in the story.


b.  The gardener is the person who manages the day to day operations of the vineyard/orchard.  This person is analogous to the Lord Jesus Christ, who works for God the Father in overseeing the nation Israel and God’s people—the Jews.

2.  ““Behold, for three years I keep coming, seeking fruit on this fig tree and not finding it.”

a.  The owner’s attitude is now revealed to be one of dissatisfaction with the fig tree for its lack of production of fruit.  The period of three years is significant because it is the same period of time as our Lord’s public ministry so far during His first advent.


b.  For three years God the Father has been coming to see the spiritual production of Israel—believing in the Lord Jesus Christ as the Son of God.  Every year He has come to see if the Jews believed in His Son, and every year for three years there has been virtually no production.  There was a lot of initial excitement about Jesus’ healing and teaching, but there was comparatively little faith in Him as the provider of eternal salvation.  They loved to be healed and hear Him teach, but they didn’t believe that He was their Savior or Messiah.


c.  The fig tree is analogous to the nation or people of Israel.  The fruit is analogous to the people’s faith in Christ.  The lack of fruit represents their negative volition to the message of the gospel.  The three years represent the Lord’s ministry thus far in Israel.

3.  “Cut it down!”

a.  The owner of the vineyard is disgusted with the fig tree and orders its destruction.  He orders it to be cut down with the implication that it will be cut up into firewood and eventually burned—an analogy to the lake of fire.



(1)  Mt 3:10, “The axe is already laid at the root of the trees; therefore every tree that does not bear good fruit is cut down and thrown into the fire.”



(2)  Mt 7:19, “Every tree that does not bear good fruit is cut down and thrown into the fire.”



(3)  Lk 3:9, “Indeed the axe is already laid at the root of the trees; so every tree that does not bear good fruit is cut down and thrown into the fire.”

b.  The analogy of the tree being cut down to a nation being cut down is seen in:



(1)  Ps 80:14-16, “O God of hosts, turn again now, we beseech You; look down from heaven and see, and take care of this vine, even the shoot which Your right hand has planted, and on the son whom You have strengthened for Yourself.  It is burned with fire, it is cut down.”



(2)  Jer 6:6, “For thus says the Lord of the armies, ‘Cut down her trees and cast up a siege against Jerusalem.  This is the city to be punished, in whose midst there is only oppression.’”



(3)  Jer 22:7, “For I will set apart destroyers against you, each with his weapons; and they will cut down your choicest cedars and throw them on the fire.”

4.  “Why even waste the ground?””

a.  The fruitless fig tree is good for nothing.  All it does is suck up nutrients and water from the ground and give nothing in return.  It is harmless to other plants around it by its useless existence.  It is a waste of good ground where other plants may grow and produce fruit.


b.  By analogy Jesus is explaining that Israel has been fruitless in the Land for most of its existence.  It is wasting space that could be better put to use by those who believe in Jesus.  God the Father is expressing the fact that the people of Israel are a waste of time.  They haven’t produced for God all the believers of the world that He intended.  They have had their chance and wasted it.  He doesn’t want any more time or effort put into the fruitless people of Israel.  It is time for a new limb grafted into the old tree.


c.  Paul warned the Church to not become arrogant because they replaced the fig tree.  Rom 11:17-21, “Moreover, if some of the branches [Jewish unbelievers of Church Age] were broken off [temporal and eternal judgment] [and they were], and you [Gentile believers of Church Age], being a wild olive tree, have been grafted in among them [Jewish believers] and have become co-partners [with Jewish believers] of the richness [temporal and eternal blessings] of the root [Jesus Christ] of the olive tree [God’s plan], stop exulting yourselves by degrading the branches [Jewish unbelievers].  Now since you are exalting yourselves by degrading [them], you do not sustain the root, but the root [sustains] you.  Therefore, you will object, ‘The branches were broken off, in order that I [Gentile believer] might be grafted in.’  Quite right!  Because of unbelief they were broken off, but you stand because of faith [in Christ].  Stop thinking proud thoughts, but respect [God].  For if God did not spare the natural branches, neither will He spare you [Gentile believer guilty of anti-Semitism].”

5.  Commentators’ comments.


a.  “These three years, of course, have nothing to do with the three years of Christ’s public ministry.  [Why not?  The commentator gives no reason.]  The three years are counted from the time when the fig tree would normally be expected to bear, not from the time of planting.  The Jewish nation is meant by this parable of the barren fig tree.”


b.  “The vineyard owner registers his complaint to the vinedresser.  For three years the owner has come to get fruit from the fig, and nothing has been produced.  Vines normally took three years to start producing fruit (Lev 19:23).  The act being considered does not reflect impatience.  The owner’s disgust is indicated by the remark that the fig takes up space in the vineyard and robs the ground of nutrients.  Thus the other vines and fruit trees suffer.  His judgment is that the vineyard would be better off without the fig, especially since it steals nutrients from the soil to sustain its growth.  The fig tree pictures the nation and portrays Israel as not having borne any spiritual produce for some time.  The owner’s disgust pictures God’s evaluation of Israel’s current status.  It is possible that the vinedresser represents the merciful element in God’s character pleading for patience.  Such imagery is vivid and descriptive, but it is not designed to indicate an argument within the Godhead.  Rather, it is a graphic way to portray God’s displeasure alongside His patience.  Another image that should not be pressed is the three-year image.  It does not refer to the length of Jesus’ ministry.  [Why not, when the analogy is so obvious?]  The number merely provides background for the parable and indicates that an adequate time to be fruitful has been provided.  Given such a lack of fruit, God could justly execute judgment, but He chooses not to, at least not yet.  Does the threat to remove the tree suggest making way for a replacement?”
  Rom 11 answers that question with a guaranteed ‘Yes’.


c.  “God waited three years during our Lord’s earthly ministry, but the nation did not produce fruit.”


d.  “According to rabbinic interpretation of Lev 19:23, fruit from newly planted trees was forbidden for three years (though the Jewish tradition may have applied more strictly to olives than to figs).  In later Jewish teaching, God examined Israel’s sins once a year to decide their future for the coming year; but it is not clear if Jesus alludes to such an idea here.”


e.  Lenski makes a lengthy argument that the three-year period includes the combined ministries of John the Baptist and the Lord Jesus up to this point in His public ministry.  The argument is sound and convincing.  “These three years start with the Baptist’s work.  Three years have now passed.  God sent the Baptist and Jesus during these three years, and it is during this time that He most certainly expected and came to seek the fruit of repentance.  But there was no fruit: ‘Jerusalem, Jerusalem…you would not!’”
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